i
Time : 1 Hour] PART-A [Total Marks ; 5,
%  Select the following questions with proper (A) Physical barrier (B) Cellu.la: barrier
_ . alternative and answer it : (C) Cytokine barrier .. (D) PhYSIOIOSICal 1
1) How many years ago modern man Homo 10) ' Match the Column - I and Col II «
" sapiens arose ? . Column-Ti wi) - Col ' ‘
(A) 1,00,000 - 90,000  (B) 5,000 - 4,000 - ®) ASPergillus niger ' | () Acetic aciq
- (C) 1,50,000 - 1,30,000 (D) 75,000 — 10,000 (Q) Acetobacter aceti " | (ii) - Butyric acjq
2) . Crystals Bt toxin produced by some bacteria do (R) Clostridium butylicum| (iii) Citric aciq
not kill the bacteria themselves because.... (S) Lactobacillus (iv) Lactic acid
(A) Bacteria are resistant to the toxin. A) P - i), (Q -iii), R-id), S-iv) ~
(B) Toxin is inactive. (C) Toxin is mature. ®) @ - iii), Q - i), R - ii), (S - iv) k.
(D) Bacteria encloses toxin m a special sac. . (C) (P - iii), Q- 1), R-iv), (S - ii) 1
3) Which of the following layer of micro- (D) (P 2 i), (Q - iii), (R - iv), (S - ii) '
" sporangium provides nutrition to developing | ;) - pco-RI cuts the DNA between ...... only vhe
N en.gram's ¢ ! the sequence GAATTC is present in the DNA
(A) Epidermis (B) Middle layer A) G and A ®B)T and C - ]
__(C) Endothelium (D) Tapetum E C)Aand T - (D)A and A~ ——
4)  Which of the following hormone is secreted in : e - - } crparn
high amount causing ovulation in women ? 2<) g\(;l(::i?a:(i::: :: ennched(;/;v)l t\l;itwm.(:hgl m?
(A) Estrogen 2 By
B) Luteiiiziné Hormone (LH) (S atamin b (DI
(C) Follicle Stimulating Hormone (FSH) < xmrc?l Lkl ¢ - by S
(D) Androgens i é COll.lmn-I Socvg e RS e
5) Statutory ban on ‘amniocentesis’ for which test (f) Li chéns e —— (); g
; : ; i) Parasitism
(2) g O shlly.n.drome (B) Sickle - Ce]% anfamla (Q) Abingdon tortoise and goat ((ii) Commensalism
; I( )kli::e;'nop a3 (D) Sex determination (R) Sea anemone and clown fish|(iii) Competition
) n efelter syndrome .......... k (S)  Human and liver fluke (iv) Mutu “'
(A) Monosomy of 231 pair of chromosome @A) P-1, Q-i) ®-i) S-1v
(B) Trisomy of 23™ pair of chromosome B) @ - ii;) Q - i;r) ® ii,) S - i)
(C) Monosomy of 215t pair of chromosome ©) P - iv), Q - iii), ® - i) ' S - ii)
(D) Trisomy of 21t pair of chromosome (D) P - iv)’ Q - iii), ® ii)’ S - i)
7)  Ifadouble stranded DNA has 35 percent Guanine, | 4) Choose the correct option for given statement
calculate the percent of thymine in the DNA. -+ «(T = True, F = False) "
A) 35% (B . fas )
. ( ). o. (B) 70% (C) 15% (D).BO% () Pyramid of energy is always upright.
)  Which is the correct example for divergent (i) Pyramid of number i nerally
B ion? m};rened umber in sea is ge
A) Tlfom of Bougainvillea and tendril of cucurbita. (iii) Pyramid of biomass in sea is generallY
(B) Flippers of Penguins and Dolphins. inverted:
(C) Octopus and human eye. . (iv) In most ecosystem the pyramid of number
(D) Sweet potato root and potato stem. Facy and energy are always inverted.
9)  Secretion of interferon is which type of barrier 2 (A) FTFT B)TFTT (C)FFTF (D) TF TF
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15)

| 16)

17)

18)

19)

20)

21)

22)

23)

e

(D) Co-extinctions

”‘rd" Question Papers

what is the main cause of bjgd; .
n rain forest ? lodiversity losses of

(a) Habitat loss and fragmentation
(B) Alien species invasions
(C) Over exploitation

In given figure, megasporogenesis is sh i

own
angiospel'ms'What are ploidy in given ‘X’ anu(;
«y’ respectively ?

(A) m, 2n
(B) 2n, n

(C) 3n, n

(D) n, n

Which gland helps in the lubrication of the
penis during coitus ?

(A) Prostate glands (B) Bulbourethral glands
(C) Seminal Vescicles (D) Testis

LNG-20 iS .ccceeee .

(A) Hormone releasing IUD

(B) Vaults

(C) Copper releasing IUD

(D) Non-medicated IUD

What is represented by following cross

Tt x tt

(A) Test cross

(B) Dihybrid cross

(C) Co-dominance

(D) Incomplete dominance

The length of DNA double helix in human sperm

is approximately ..........
(A) 1.36 mm (B) 2.2 m
C)1.1m (D)2.2 mm

The brain capacity of Neanderthal man was
(A) 900 cc (B) 650 cc (C) 1400 cc (D) 800 cc
Chemical structure of which drug is given
below ?

(A) Amphetamine

(B) Cannabinoids

(C) Barbiturates

(D) Morphine
Assertion-A : The statin

HO
produced by the yeast

24)

25)

26)

27)

28)

29)

30)

31)

monoscus purpureus lowered the blood

cholesterol.

TR

Reason-R : Statin act as by competitively in
habiting the enzyme responsible for synthesis
of cholesterol.

(A) A and R both are correct and R is correct

_explanation of A.
(B) A is correct and R is wrong.
(C) A and R both are correct and R is not correct
explanation of A.

(D) A is wrong and R is correct.

The ampR gene contain the recognition sites
for which endonucleases in pBR 322 .......... .
(A) Pvu II and Pvu I B)Pst I and Pvu 1

(C) Sal I and Bam H I (D)Pst I and Sal 1
Which part of tobacco plant is infected by
nematode meloidogyne incognita

(A) Stem (B)Leaf  (C)Root (D) Fruit
Which of the following is correct equation for
Verhulst Pear] Logistic Growth ?

(A) dN/dt = 1N (B) N, = Nge™

K-N K

(C) dN/dt=1N (——K—) (D)dN/dt =N (ﬁ)
The second trophic level in a lake i ........ :
(A) Phytoplankton (B) Algae

(C) Zooplankton (D) Fishes

Which of the following is not the part of in situ
conservation ?

(A) National Park (B) Biosphere reserve
(C) Sanctuaries (D) Zoological parks
Which pollinating agent is responsible for
pollination in water hyacinth and water lily ?
(A) Wind, Water (B) Insects, Water

(C) Insects, Wind (D) Only Water

MTPs are considered relatively safe during
the ..ceeeens .

(A) 30 weeks (B) 18 weeks

(C) 24 weeks (D) 12 weeks

In given chart which mendelian disorder is
represented ?
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